MATHS

BOOKS - FULL MARKS MATHS (TAMIL
ENGLISH)

SAMPLE PAPER-1 (Departmental
Model Paper)

Part | Choose The Correct Answer



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1. If n(Ax B)=6and A ={1,3}, then
n(B) is

Al

B.2

C.3

D.6

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_mppJY96r9Nbf
https://dl.doubtnut.com/l/_mxQKFyI1nVPm

2. Given

Fl = ]., F2 = 3 and Fn = Fn—l + Fn—2

then Fj is

A3

B.5

C.8

D. 11

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_mxQKFyI1nVPm
https://dl.doubtnut.com/l/_fC02q0AU9rQI

3. In an AP, the first is 1 and the common
difference is 4. How many terms of the AP
must be taken for their sum to be equal to
1207

A.6

B.7

C.8

D.9

Answer: C

O Watch Video Solution



https://dl.doubtnut.com/l/_fC02q0AU9rQI

4°f — {(27 1)a (3a b)a (47 b)7 (57 C)} is a____.

A. identity function
B. one-one function
C. many-one function

D. constant function

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_fC02q0AU9rQI
https://dl.doubtnut.com/l/_g6jMa3O4QCCk
https://dl.doubtnut.com/l/_TTz02IQ7Igaz

5. The number of points of intersection of the
quadratic polynomial r? + 4z + 4 with the X
axis.

A.O

B. 1

C.0 (or) 1

D.2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_TTz02IQ7Igaz




